COMARTEX

Cepuis

7\ 1980

2ll-VUEATO

note importante :
tous les prix sont hors taxes
le prix du transport est a rajouter et sera calculé en fonction
du poids et de la destination des outils

tarifs juin 2022



INDEX

(7.5

ci dessous : gamme outils pour machines fixes ci dessous : gamme outils pour machines portatives

KINKI L ____ 2 sumo  _______________________ 28
GIVRE  _ _ _ _ _ 4 STONA _ _ _ _ _ _ _______ 30
SPUNTY o ______ 6 TANGA3 ___ _ 32
VARIA L ____ 8 TANGA4 __ __ __ __ _______________ 34
ABRAX o ______ 10 MICRA _ _ __ _ ___________ 36
ASOLA o _______ 12 pko - ________________ 38
HAMMER  _____ o _____ 14 ROLLEX _____ _ ____ __ ___________ 40
DIA-ABRAX  _ __ 16 DIA-ROLLEX  ______ _________________ 42
FRANKROLL _______________________ 18 VOR L ______ 44
CcOstA 20 RULLATRICE  ____ __ __ _ _ _ _ _ _ _________ 46
ROKER 22 BIRBA  _ ___ ___________________ 48
DIA-ROKER 24

DRAGO 26




KINKI

Kinki 3 @ 280 mm
9,00 kg

CoD. DESC. €
M RSK Kinki 3 @ 280 mm 795,00

2 M for marble and limestone B for granite and sandstone



KINKI SPARE PARTS

Depuis

1980

COMARTEX

N LUPATO

il meccanica

Kinki roller @ 55 mm

Internal parts @ 32 x 62 mm

0,80 kg 0,25 kg a
/
cop. € cop.
M RSRUL8 166,00 RSPIR
Grease screw M12 x 110 mm Glide @ 280 mm
0,10 kg 3,70 kg
cop. € CoD.
TE12110 14,00 RSPAT280
3 rubbers for shock absorber Pressure gauge
0,04 kg 0,50 kg
cop. € cop.
R6GA 9,00 PESA

M for marble and limestone

3 rollers holder

3,00 kg
€ cop. €
39,00 RSSUP 116,00
Shock absorber
0,35 kg
€ cop. €
155,00 RAM 41,00

230,00

B for granite and sandstone



GIVRE

Givre 4 @ 270 mm Givre 6 @ 300 mm
7,50 kg 9,00 kg

'Zf’}’. é °. .

=
= o

cop. DESC. € cob. DESC. €
M VM4 Givre 4 @ 270 mm 779,00 M VM6 Givre 6 @ 300 mm 1.040,00
Givre 12 @ 450mm Givre 15 @ 550 mm
19,00 kg 24,00 kg
[- S -
y e 2\
= ;
° . °
\\\\\
-]
cop. DESC. € cob. DESC. €
M VM12 Givre 12 @ 450 mm 2.060,00 M VM15 Givre 15 @ 550 mm 2.505,00

Givre 18 @ 620 mm
36,00 kg

COoD. DESC. €
M VM18 Givre 18 @ 620 mm 3.280,00

4 M for marble and limestone B for granite and sandstone



COMARTEX a1 UPATO

GIVRE SPARE PARTS Depuis g -
1980 o meccanica
Givre roller @ 50 mm Bearing 3201 2RS with circlips Seals with spacers
0,30 kg 0,07 kg 0,01 kg @
cop. € cop. € cop. €

M RVM 106,00 R6PIR 14,00 R6PIR.1 11,00
Roller holders 40 x 30 mm Grease screw M12 x 65 mm Grease screw M12 x 60 mm on M12

0,40 kg 0,07 kg 0,07 kg

cop. € cop. € cop. €
R6CS 36,00 TE1265I 9,00 TE12601.M12 9,00
Glide @ 270 mm Glide @ 300 mm Glide @ 450 mm

3,00 kg 3,80 kg 9,00 kg

cop. € cob. € cop. €
R4PV 155,00 R6PE 172,00 R12PES 282,00
Glide @ 550 mm Glide @ 620 mm Shock absorber

15,00 kg i 20,00 kg 0,35 kg

cop. € cob. € cop. €
R15PE 489,00 R18PV 715,00 RAM 41,00
3 rubbers for shock absorber Pressure gauge

0,04 kg 0,50 kg

cop. € cob. €

R6GA 9,00 PESA 230,00

5 M for marble and limestone B for granite and sandstone



SPUNTY ,

Spunty 3 @ 250 mm Spunty 6 @ 450 mm
5,50 kg 19,00 kg

cop. DESC. € cop. DESC. €
M SPT3 Spunty 3 @ 250 mm 82500 M RS6 Spunty 6 @ 450 mm 1.590,00

6 M for marble and limestone B for granite and sandstone



SPUNTY SPARE PARTS

O COMARTEX

Depuis

1980

ML UPATO

meccanica

10 bits long roller @ 55 mm
0,70 kg

CcOoD.
M RSRUL10

Bearing 3201 2RS with circlips

. 0®0

COoD.
R6PIR

Roller Holders Spunty 6

10 bits roller @ 55 mm Internal parts @ 32 x 62 mm

030kg - 025 kg
(P 0

u o

€ CcOoD. € CobD. €
166,00 M RSRUL10C 123,00 RSPIR 39,00

Seals with spacers Roller holders 40 x 26 mm

0,01 kg 0,40 kg
€ cop. € cop. €
14,00 R6PIR.1 11,00 CSUP 41,00

Flange head grease screw M12 x 65 mm Grease screw M12 x 120 mm

0,50 kg 0,07 kg 0,10kg

cop. € cop. € cop. €
RSSUP6 45,00 TE1265FRI 18,00 TE12120l 14,00

Glide @ 250 mm Glide @ 450 mm Shock absorber @ 38 x 52 mm

3,80 kg 15,00 kg @ 0,20 kg 9

cop. € cop. € cop. €
PAT250 170,00  RSPAT450 310,00 AMM 56,00

3 rubbers for shock absorber Shock absorber Pressure gauge

0,04 kg 035kg i 0,50 kg

cop. € cop. € cop. €
R6GA 9,00 RAM 41,00 PESA 230,00
7 M for marble and limestone [ for granite and sandstone



VARIA

TOOLS INFO

Varia 4 @ 270 mm

7,50 kg

CcoD.
M RV4M
M RV4A

Varia 12 @ 450 mm

19,00 kg

cop.
M R12E
M R12EG

Varia 18 @ 620 mm

36,00 kg

cop.
M RV18M
M RV18A

DESC.
Varia 4/15 @ 270 mm
Varia 4/30 @ 270 mm

DESC.
Varia 12/15 @ 450 mm
Varia 12/30 @ 450 mm

Varia 6 @ 300 mm

9,00 kg

€ cop. DESC. €
665,00 [M R6E Varia 6/15 @ 300 mm 835,00
780,00 M R6EG Varia 6/30 @ 300 mm 1.025,00

Varia 15 @ 550 mm

24,00 kg

€ cop. DESC. €
1.643,00 M R15E Varia 15/15 @ 550 mm 2.025,00
1.993,00 M R15EG Varia 15/30 @ 550 mm 2.459,00

DESC.
Varia 18/15 @ 620 mm
Varia 18/30 @ 620 mm

M for marble and limestone

€
2.715,00
3.165,00

B for granite and sandstone



COMARTEX

Depuis

1980

=8 LUPATO

il meccanica

VARIA SPARE PARTS

15 bits roller @ 50 mm 30 bits roller @ 50 mm Bearing 3201 2RS with circlips
0,30 kg 0,30 kg - 0,07 kg
cop. € cop. € cop. €

M R6R 74,00 ‘M R6RG 104,00 R6PIR 14,00
Seals with spacers Roller holders 40 x 30 mm Grease screw M12 x 65 mm

0,01 kg 0,40 kg 0,07 kg

cop. € cop. € cop. €
R6PIR.1 11,00 R6CS 36,00 TE1265I 9,00
Grease screw M12 x 60 mm on M12 Glide @ 270 mm Glide @ 300 mm

0,07 kg 3,00 kg 3,80 kg

cop. € cob. € cop. €
TE12601.M12 9,00 R4PV 155,00 R6PE 172,00
Glide @ 450 mm Glide @ 550 mm Glide @ 620 mm

9,00 kg 15,00 kg i 20,00 kg

cop. € cob. € cop. €
R12PES 282,00 R15PE 489,00 R18PV 715,00
3 rubbers for shock absorber Shock absorber Pressure gauge

0,04 kg 0,35 kg 0,50 kg

cop. € cob. € cob. €
R6GA 9,00 RAM 41,00 PESA 230,00

9 M for marble and limestone B for granite and sandstone



ABRAX

TOOLS INFO

Abrax 4 @ 270 mm
7,50 kg
cop.
M VA4MG
M VA4M
M VA4
Abrax 12 @ 450 mm
19,00 kg
cop.
M A12MG
M A12M
M A12

Abrax 18 @ 620 mm

36,00 kg
cop.
M VA18MG
M VA18M
M VA18
10

DESC.

Abrax 4/1400 @ 270 mm
Abrax 4/800 @ 270 mm
Abrax 4/400 @ 270 mm

612,00
612,00
612,00

DESC.

Abrax 12/1400 @ 450 mm
Abrax 12/800 @ 450 mm
Abrax 12/400 @ 450 mm

DESC.

Abrax 18/1400 @ 620 mm
Abrax 18/800 @ 620 mm
Abrax 18/400 @ 620 mm

M for marble and limestone

€
1.502,00
1.502,00
1.502,00

€
2.460,00
2.460,00
2.460,00

Abrax 6 @ 300 mm
9,00 kg
cob.
M A4045MG
M A4045M
M A4045
Abrax 15 @ 550 mm
24,00 kg
cob.
M A15MG
M A15M
M A15

DESC.

Abrax 6/1400 @ 300 mm
Abrax 6/800 @ 300 mm
Abrax 6/400 @ 300 mm

760,00
760,00
760,00

DESC.

Abrax 15/1400 @ 550 mm
Abrax 15/800 @ 550 mm
Abrax 15/400 @ 550 mm

A for granite and sandstone

€
1.805,00
1.805,00
1.805,00



COMARTEX

ZMNLUPATO

ABRAX SPARE PARTS Depuis -
1980 meccanica
Abrax roller @ 50 mm Bearing 3201 2RS with circlips Seals with spacers
0,32 kg 0,07 kg 0,01 kg @
cop. GRAIN €
M ARU1400 1400 - Coarse 66,00
M ARUS00 800 - Medium 66,00 COD. € cop. €
M ARU400 400 - Fine 66,00 R6PIR 14,00 R6PIR.1 11,00
Roller holders 40 x 30 mm Grease screw M12 x 65 mm Grease screw M12 x 60 mm on M12
0,40 kg 0,07 kg 0,07 kg
cop. € cop. € cop. €
R6CS 36,00 TE1265I 9,00 TE12601.M12 9,00
Glide @ 270 mm Glide @ 300 mm Glide @ 450 mm
3,00 kg 3,80 kg 9,00 kg
cop. € cop. € cop. €
R4PV 155,00 R6PE 172,00 R12PES 282,00
Glide @ 550 mm Glide @ 620 mm 3 rubbers for shock absorber
15,00 kg ; 20,00 kg 0,04 kg
cop. € cop. € cop. €
R15PE 489,00 R18PV 715,00 R6GA 9,00
Shock absorber Pressure gauge
035 kg 0,50 kg
cop. € cop. €
RAM 41,00 PESA 230,00

11 M for marble and limestone

B for granite and sandstone



ASOLA

TOOLS INFO

Asola 12 @ 460 mm

Asola 12/15 @ 460 mm
Asola 12/30 @ 460 mm

22,00 kg
cop. DESC.
M R12-G
M R12-MG
M R12-M

Asola 18 @ 700 mm

Asola 12/45 @ 460 mm

Asola 18/15 @ 700 mm
A18M Asola 18/30 @ 700 mm
Asola 18/45 @ 700 mm

39,00 kg
cop. DESC.
M A18G
M
M A18F
12

M for marble and limestone

Asola Abrax 12 @ 460 mm

22,00 kg
CobD. DESC.
M A12AMG Asola Abrax 12/1400 @ 460 mm
M A12AM Asola Abrax 12/800 @ 460 mm
M A12A Asola Abrax 12/400 @ 460 mm

Asola Abrax 18 @ 700 mm

39,00 kg
CcobD. DESC.
M A18AMG Asola Abrax 18/1400 @ 700 mm
M A18AM Asola Abrax 18/800 @ 700 mm
M A18A Asola Abrax 18/400 @ 700 mm

B for granite and sandstone

n) P‘

<
o

™
'~,( >

R

3

.

L X

\




ASOLA SPARE PARTS

Depuis

1980

COMARTEX

a

ZMNLUPATO

meccanica

15 bits roller @ 50 mm
030 kg

CoD.
M R6R

Abrax roller @ 50 mm

0,32 kg
CoD. GRAIN
M ARU1400 1400 - Coarse
M ARU800 800 - Medium
M ARU400 400 - Fine

Roller Holders 40 x 32 mm
0,40 kg

CcobD.
R6CSA

Plate @ 460 mm
11,00 kg

CcoD.
R12P460

Pressure gauge
0,50 kg

CoD.
PESA

30 bits roller @ 50 mm
0,30 kg >

€ CcOoD.
74,00 M R6RG

Bearing 3201 2RS with circlips
0,07 kg

66,00
66,00 COD.
66,00 R6PIR

Grease screw M12 x 60 mm
0,07 kg

€ COoD.
40,00 TE1260I

Plate @ 700 mm
23,00 kg

€ COoD.

440,00 R18P700

230,00

13 M for marble and limestone

45 bits roller @ 50 mm
0,30 kg

€ CcoD.
104,00 M R6R-FG

Seals with spacers
0,01 kg

€ CobD.
14,00 R6PIR.1

Grease screw M12 x 60 mm on M12
0,07 kg

€ COoD.
9,00 TE12601.M12

3 rubbers for shock absorber

0,04 kg
€ cop.
820,00 R6GA

B for granite and sandstone

128,00

11,00

9,00

9,00



HAMMER

TOOLS INFO

Hammer 4 @ 320 mm

13,00 kg

CoD. DESC. €
E RH420 Hammer 4/20 @ 320 mm 899,00
G| RH430 Hammer 4/30 @ 320 mm 970,00
Hammer 10 @ 460 mm
40,00 kg

cob. DESC. €
E RH1020 Hammer 10/20 @ 460 mm 2.105,00
G| RH1030 Hammer 10/30 @ 460 mm 2.387,00
14 M for marble and limestone

Hammer 6 @ 320 mm

15,00 kg

CoD. DESC. €
E RH620 Hammer 6/20 @ 320 mm 1.222,00
E RH630 Hammer 6/30 @ 320 mm 1.346,00
Hammer 12 @ 460 mm
42,00 kg

CcobD. DESC. €
E RH1220 Hammer 12/20 @ 460 mm 2.507,00
E RH1230 Hammer 12/30 @ 460 mm 2.744,00

B for granite and sandstone



COMARTEX

Depuis

HAMMER SPARE PARTS

4B LUPATO

1980 £ meccanica

20 bits Hammer roller @ 70 mm 30 bits Hammer roller @ 70 mm Bearings 6202 2RS with circlips
0,40 kg 0,40 kg 0,08 kg

cop. € cop. € cop. €
G| RC20D70 11200 @ RC30D70 133,00 C6202SH 27,00
Hammer roller holders Hammer grease screw Lower plate @ 320 mm
0,70 kg C 0,10kg 4,00 kg
cop. € cop. € cop. €
CSHAM 98,00 TE1570l 29,00 PIAT300INF 195,00
Lower plate @ 460 mm Hammer shock absorber Pressure gauge
9,00 kg 0,40 kg 0,50 kg
cop. € cop. € cop. €
PIAT450INF 333,00 AMMH 59,00 PESA 230,00

15 M for marble and limestone [ for granite and sandstone



DIA-ABRAX

Dia-Abrax 4 @ 270 mm Dia-Abrax 6 @ 300 mm
7,50 kg 9,00 kg

cop. DESC. € cob. DESC. €
G| DA4800 Dia-Abrax 4/800 @ 270 mm 988,00 4 DA6800 Dia-Abrax 6/800 @ 300 mm 1.304,00
G| DA4400 Dia-Abrax 4/400 @ 270 mm 954,00 4 DA6400 Dia-Abrax 6/400 @ 300 mm 1.239,00

Dia-Abrax 12 @ 450 mm Dia-Abrax 15 @ 550 mm

19,00 kg 24,00 kg

cop. DESC. € cop. DESC. €
G| DA12800 Dia-Abrax 12/800 @ 450 mm 259400 [ DA15800 Dia-Abrax 15/800 @ 550 mm 3.110,00
G| DA12400 Dia-Abrax 12/400 @ 450 mm 246100 @ DA15400 Dia-Abrax 15/400 @ 550 mm 2.950,00

Dia-Abrax 18 @ 620 mm

36,00 kg

cop. DESC. €
G| DA18800 Dia-Abrax 18/800 @ 620 mm 4.402,00
G| DA18400 Dia-Abrax 18/400 @ 620 mm 4.203,00

16 M for marble and limestone [ for granite and sandstone



DIA-ABRAX SPARE PARTS

Depuis

1980

COMARTEX e |

e Iﬂ

LUPATO

meccanica

Dia-Abrax roller @ 50 mm

Bearing 3201 2RS with circlips

0,32 kg 0,07 kg
cop. GRAIN €

a DARU800 800 - Medium 156,00 COD.

G| DARU400 400 - Fine 140,00 R6PIR

Roller holders 40 x 30 mm
0,40 kg

COoD.
R6CS

Glide @ 270 mm
3,00 kg

CcobD.
R4PV

Glide @ 550 mm
15,00 kg

CcoD.
R15PE

Shock absorber
0,35 kg

CoD.
RAM

17

Grease screw M12 x 65 mm
0,07 kg

€ CobD.
36,00 TE1265I

Glide @ 300 mm
3,80 kg

€ COoD.
155,00 R6PE

Glide @ 620 mm
20,00 kg

€ COoD.
489,00 R18PV

Pressure gauge
0,50 kg

€ COoD.
41,00 PESA

M for marble and limestone

Seals with spacers

e 0

€ CobD.
14,00 R6PIR.1

Grease screw M12 x 60 mm on M12
0,07 kg

€ CobD.
9,00 TE12601.M12

Glide @ 450 mm
9,00 kg

€ COoD.
172,00 R12PES

3 rubbers for shock absorber

0,04 kg
€ cop.
715,00 R6GA

230,00

B for granite and sandstone

11,00

9,00

282,00

9,00



FRANKROLL

TOOLS INFO

Nicking Frankroll
1,50 kg
cop.
M FRKSP

Bushammering Frankroll

1,50 kg
cop.
M FRK15
M FRK30
M FRK45

Sandblasting Frankroll

1,50 kg
cop.
M FRKAMG
M FRKAM
M FRKA

18

Nicking Frankroll
with glide
1,60 kg
DESC. € cop.
Frankroll 10 bits 166,00 M FKRSP

with glide
1,60 kg
DESC. € CcobD.
Frankroll 15 bits 133,00 M FKR15
Frankroll 30 bits 148,00 ‘M FKR30
Frankroll 45 bits 159,00 M FKR45

with glide

1,60 kg
DESC. € CcobD.
Frankroll Abrax 1400 12500 M FKRAMG
Frankroll Abrax 800 12500 M FKRAM
Frankroll Abrax 400 12500 M FKRA

M for marble and limestone

Bushammering Frankroll

Sandblasting Frankroll

DESC. €
Frankroll 10 bits with glide 216,00

DESC. €
Frankroll 15 bits with glide 180,00
Frankroll 30 bits with glide 195,00

210,00

Frankroll 45 bits with glide

DESC. €
Frankroll Abrax 1400 with glide 168,00
Frankroll Abrax 800 with glide 168,00
Frankroll Abrax 400 with glide 168,00

A for granite and sandstone



O COMARTEX LUPATO

FRANKROLL SPARE PARTS Depuis -
1980 Y meccanica

10 bits roller @ 55 mm 15 bits roller @ 50 mm 30 bits roller @ 50 mm

030 kg - 030kg 030 kg

P
R
/' @

[ J

¢ :
" "
cop. € cop. € cop. €
M RSRUL10C 123,00 M R6R 74,00 M R6RG 104,00
45 bits roller @ 50 mm Abrax roller @ 50 mm Bearing 3201 2RS with circlips
030kg 032kg 0,07 kg
cop. GRAIN €
M ARU1400 1400 - Coarse 66,00
cop. € M ARUB00 800 - Medium 66,00 COD. €
M R6R-FG 128,00 M ARU400 400 - Fine 66,00 R6PIR 14,00
Seals with spacers Frankroll support Grease screw for Frankroll
0,01 kg 1,25 kg 020kg
cop. € cop. € cop. €
R6PIR.1 11,00 FRK 75,00  PIFRK 27,00
Frankroll support with glide Grease screw for Frankroll with glide Pressure gauge
1,30 kg 030kg 0,550 kg
cop. € cop. € cop. €
FKR 121,00 PINF 27,00 PESA 230,00

19 M for marble and limestone [ for granite and sandstone



COSTA

TOOLS INFO

Costa 2 bullnose @ 135 mm
3,00 kg

cop.
m [ coxr

DESC. €
Costa 2 bullnose @ 135 mm 742,00

Costa 3 Abrax @ 110 mm

2,20 kg

CcoD. DESC. €
M CO3A1400 Costa Abrax 3/1400 @ 110 mm 573,00
M CO3A800 Costa Abrax 3/800 @ 110 mm 573,00
M CO3A400 Costa Abrax 3/400 @ 110 mm 573,00

Costa4 @ 150 mm
3,00 kg

cop.
M [ cos1w2o

DESC. €
Costa 4/1TW20 @ 150 mm 786,00

Costa 4 Dia-Abrax @ 150 mm

3,00 kg

cop. DESC. €
G| CO4DA800 Costa Dia-Abrax 4/800 @ 150 mm 940,00
E CO4DA400 Costa Dia-Abrax 4/400 @ 150 mm 940,00
20 M for marble and limestone

Costa3 @ 110 mm
2,20 kg

cop.
M coziwzo

DESC. €
Costa 3/1W20 @ 110 mm

Costa 3 Dia-Abrax @ 110 mm

2,20 kg

CoD. DESC. €
E CO3DA800 Costa Dia-Abrax 3/800 @ 110 mm 715,00
E CO3DA400 Costa Dia-Abrax 3/400 @ 110 mm 715,00
Costa 4 Abrax @ 150 mm
3,00 kg

CcobD. DESC. €
M CO4A1400 Costa Abrax 4/1400 @ 150 mm 701,00
M CO4A800 Costa Abrax 4/800 @ 150 mm 701,00
M CO4A400 Costa Abrax 4/400 @ 150 mm 701,00

B for granite and sandstone



0 COMARTEX

Depuis

1980

LUPATO

COSTA SPARE PARTS -
meccanica

Costa 2 planet wheel 1W20 planet wheel Abrax planet wheel
0,40 kg . 0,30 kg . 0,20 kg
cob. GRAIN €
M SATA1400 1400 - Coarse 96,00
cop. € cop. € M SATA800 800 - Medium 96,00
G| R2S 19500 [ SAT1W20 120,00 M SATA400 400 - Fine 96,00
Dia-Abrax planet wheel Bearings 608 RS with cap Costa 2 roller
0,20 kg ) 0,05 kg P 0,10 kg
cop. GRAIN €
G| SATDA800 800 - Medium 145,00 COD. € cop. €
G| SATDA400 400 - Fine 145,00 SPIT 1900 M R2RTL 125,00
1W20 roller @ 33 mm Abrax roller @ 35 mm Dia-Abrax roller @ 35 mm
0,10 kg 0,10 kg 0,10 kg 3
cop. GRAIN €
M RTA1400 1400 - Coarse 39,00 cop. GRAIN €
cop. € M RTA800 800 - Medium 3900 @ RTDA800 800 - Medium 86,00
M [ RrT20sW 54,00 M RTA400 400 - Fine 3900 @ RTDA400 400 - Fine 86,00
Costa 2 Bullnose glide @ 150 mm Costa 4 glide @ 150 mm
0,40 kg 0,60 kg
cop. € cop. €
R2P 71,00 PACO 66,00

21 M for marble and limestone [ for granite and sandstone



ROKER

Roker @ 300 x 100 mm Roker @ 300 x 200 mm
8,00 kg 26,00 kg

cop. DESC. € cob. DESC. €
M R300100M Roker @ 300 x 100 mm 955,00 M R300200M Roker @ 300 x 200 mm 1.910,00
Customized
Roker

cop. €
Richiedere preventivo - Require the quotation 0,00

22 M for marble and limestone [ for granite and sandstone



ROKER SPARE PARTS

O COMARTEX

Depuis

1980

|
e |

B

LUPATO

meccanica

8 bits tip
0,01 kg
cop.
M INSMR
23

4 and 8 bits tip holder
002 kg

€ CobD.
5,00 SUP4/8

M for marble and limestone

9,00

A for granite and sandstone



B

DIA-ROKER

S 6]

Dia-Roker @ 300 x 100 mm Dia-Roker @ 300 x 200 mm

8,00 kg 26,00 kg
cob. DESC. € cop. DESC. €
G| R300100G Dia-Roker @ 300 x 100 mm 162600 @ R300200G Dia-Roker @ 300 x 200 mm 3.252,00
Customized
Roker
cop. €
Richiedere preventivo - Require the quotation 0,00

24 M for marble and limestone [ for granite and sandstone



DIA-ROKER SPARE PARTS

COMARTEX

N
Depuis X

1980 4--H'.

LUPATO

meccanica

4 bits tip
0,01 kg
cop.
G| INSGR
25

4 and 8 bits tip holder

0,02 kg
€ cop. €
1500 SUP4/8 9,00

M for marble and limestone [ for granite and sandstone



DRAGO

Ok O

TOOLS INFO

Drago
21,00 kg
cop. DESC.
Y G| DRG Drago M14
'l G| DRG5/8 Drago 5/8"
Roker @ 115 x 105 mm
3,00 kg
cop. DESC. €
M GLB Roker @ 115 x 105 mm M14 684,00
M GLBS5/8 Roker @ 115 x 105 mm 5/8" 684,00
Rollex @ 115 x 140 mm 5/8"
3,30kg
cop. DESC. €
M PRULLGBS5/8 Rollex 2000 @ 115 x 140 mm 5/8" 382,00
M PRULLMGBS/8 Rollex 1400 @ 115 x 140 mm 5/8" 382,00
M PRULLMB5/8 Rollex 800 @ 115 x 140 mm 5/8" 382,00
M PRULLFB5/8 Rollex 400 @ 115 x 140 mm 5/8" 382,00
Dia-Rollex @ 115 x 140 mm M14
3,30kg
cop. DESC. €
G| PRULLDG Dia-Rollex 800 @ 115 x 140 mm M14 860,00
G| PRULLDF Dia-Rollex 400 @ 115 x 140 mm M14 639,00
26 M for marble and limestone

995,00
995,00

Rollex @ 115 x 140 mm M14

330kg
cop. DESC. €
M PRULLGB Rollex 2000 @ 115 x 140 mm M14 382,00
M PRULLMGB Rollex 1400 @ 115 x 140 mm M14 382,00
M PRULLMB Rollex 800 @ 115 x 140 mm M14 382,00
M PRULLFB Rollex 400 @ 115 x 140 mm M14 382,00

Dia-Roker @ 115 x 105 mm

3,00 kg
cob. DESC. €
G GLBG Dia-Roker @ 115 x 105 mm M14 1.134,00
G GLBG5/8 Dia-Roker @ 115 x 105 mm 5/8" 1.134,00
Dia-Rollex @ 115 x 140 mm 5/8"
3,30 kg
cop. DESC. €
G PRULLDG5/8 Dia-Rollex 800 @ 115 x 140 mm 5/8" 860,00
G PRULLDF5/8 Dia-Rollex 400 @ 115 x 140 mm 5/8" 639,00

for granite and sandstone



DRAGO SPARE PARTS LU PATO

Depuis

COMARTEX
C il

1980 meccanica
8 bits tip 4 bits tip 4 and 8 bits tip holder
0,01 kg . 001 kg 0,02 kg
cop. € cop. € cop. €
M INSMR 500 @ INSGR 1500 SUP4/8 9,00

27 M for marble and limestone [ for granite and sandstone



SUMO

@_ . -:5. =

TOOLS INFO

LUPATO

meccanica

2 S

Protection for tool @ 150 mm

2,30 kg
CoD. DESC.
M E PR150 Protection for tool @ 150 mm M14
M E PR1505/8 Protection for tool @ 150 mm 5/8"
Sumo 3 @ 150 mm
5,00 kg
COoD. DESC. €
M SUM3 Sumo 3/9 @ 150 mm M14 565,00
M SUM35/8 Sumo 3/9 @ 150 mm 5/8" 565,00
28 M for marble and limestone

A for granite and sandstone

135,00
135,00



SUMO SPARE PARTS

COMARTEX

Depuis

1980

S LUPATO

meccanica

9 bits roller @ 48 mm
0,20 kg

CoD. €
M RSTP3

BOSCH GPO 14 CE 220V

4,00 kg
-l W
s
| |
COD. NET PRICE €
M14: |BGPO14CE 280,00
5/8: )BGPO14CE5/8 280,00

29

M for marble and limestone

Bearings 16100 2Z

0,07 kg
cop. €
C16100 12,00

BOSCH GPO 14 CE 110V

4,00 kg
o=l W
s
| |
COD. NET PRICE €
M14: JBGPO14CE110V 320,00
5/8:)BGPO14CE110V5/8 320,00

Grease crew TCEI 10 x 40 mm

0,06 kg
cop. €
TCEI1040.1 9,00

A for granite and sandstone



STONA

Protection for tool @ 150 mm

2,30 kg
coD. DESC. €
M E PR150 Protection for tool @ 150 mm M14 135,00
M E PR1505/8 Protection for tool @ 150 mm 5/8" 135,00

Stona 4 @ 150 mm Stona 4 Abrax @ 150 mm M14

2,00 kg 2,00 kg
Ccob. DESC. €

cobD. DESC. € M STN4AMG Stona Abrax 4/1400 @ 150 mm M14 379,00

M STN4 Stona 4/18 @ 150 mm M14 39500 M STN4AM Stona Abrax 4/800 @ 150 mm M14 379,00
M STN45/8 Stona 4/18 @ 150 mm 5/8" 39500 M STN4A Stona Abrax 4/400 @ 150 mm M14 379,00

Stona 4 Abrax @ 150 mm 5/8" Stona 4 Dia-Abrax @ 150 mm

2,00 kg 2,00 kg
CoD. DESC. €

coD. DESC. G | DSA800 Stona Dia-Abrax 4/800 @ 150 mm M14 490,00

M STN4AMG5/8 Stona Abrax 4/1400 @ 150 mm 5/8" 379,00 E DSA400 Stona Dia-Abrax 4/400 @ 150 mm M14 490,00
M STN4AM5/8 Stona Abrax 4/800 @ 150 mm 5/8" 379,00 E DSA8005/8 Stona Dia-Abrax 4/800 @ 150 mm 5/8" 490,00
M STN4A5/8 Stona Abrax 4/400 @ 150 mm 5/8" 37900 @ DSA4005/8 Stona Dia-Abrax 4/400 @ 150 mm 5/8" 490,00

30 M for marble and limestone B for granite and sandstone



STONA SPARE PARTS

1980

COMARTEX i
M1 UPATO

meccanica

H

18 bits roller @ 45 mm

020 kg
- P S
v
v
3
cop.
M RST4
Bearings 16100 2Z
0,07 kg
cop.
C16100
BOSCH GPO 14 CE 220V
4,00 kg
- d
cop.

M14: JBGPO14CE
5/8: JBGPO14CE5/8

Abrax roller @ 45 mm

0,26 kg
CoD. GRAIN
M RSTAMG 1400 - Coarse
€ M RSTAM 800 - Medium
64,00 M RSTA 400 - Fine

Grease screw TE 10 x 40 mm
0,06 kg

€ CobD.
12,00 TE1040.1

BOSCH GPO 14 CE 110V
4,00 kg

Dia-Abrax roller @ 45 mm

|

NET PRICE€ COD.
280,00 M14:BGPO14CE110V
280,00 5/8:)BGPO14CE110V5/8

31 M for marble and limestone

NET PRICE €

0,26 kg
€
58,00 cop. GRAIN €
5800 [d DRSTAM 800 - Medium 86,00
ss00 M@ DRSTA 400 - Fine 86,00
Stona glide @ 150 mm
0,40 kg
€ cop. €
9,00 PAT148ST 64,00
320,00
320,00

B for granite and sandstone



TANGA 3 roots o
Protection for tool @110mm with guide
2,30 kg
cob. DESC. €

M E PR110G Protection for tool @110 mm with guide M14 151,00
M E PR110G5/8 Protection for tool @110 mm with guide 5/8" 151,00
Tanga 3/19 @ 110 mm Tanga 3/2W10 @ 110 mm
1,30 kg 1,50 kg

cob. DESC. € cob. DESC. €
M T324 Tanga 3/19 @ 110 mm M14 380,00 M E T3W20 Tanga 3/2W10 @ 110 mm M14 410,00
M T3245/8 Tanga 3/19 @ 110 mm 5/8" 380,00 M E T3W205/8 Tanga 3/2W10 @ 110 mm 5/8" 410,00

Tanga 3/1W20 @ 110 mm
1,30 kg

cop.
m [ T3w20s
M [ T3w20s5/8

DESC.
Tanga 3/1W20 @ 110 mm M14
Tanga 3/1TW20 @ 110 mm 5/8"

Tanga 3 Abrax @ 110 mm 5/8"

Tanga 3 Abrax @ 110 mm M14

1,30 kg
cob. DESC. €
€ M TA31400 Tanga Abrax 3/1400 @ 110 mm M14 369,00
450,00 M TA3800 Tanga Abrax 3/800 @ 110 mm M14 369,00
450,00 M TA3400 Tanga Abrax 3/400 @ 110 mm M14 369,00

Tanga 3 Dia-Abrax @ 110 mm

1,30 kg 1,30 kg

cop. DESC. €

cop. DESC. 3 G| TDA3800 Tanga Dia-Abrax 3/800 @ 110 mm M14 490,00

M TA314005/8 Tanga Abrax 3/1400 @ 110 mm 5/8" 369,00 @ TDA3400 Tanga Dia-Abrax 3/400 @ 110 mm M14 490,00

M TA38005/8 Tanga Abrax 3/800 @ 110 mm 5/8" 369,00 @ TDA38005/8 Tanga Dia-Abrax 3/800 @ 110 mm 5/8" 490,00

M TA34005/8 Tanga Abrax 3/400 @ 110 mm 5/8" 369,00 @ TDA34005/8 Tanga Dia-Abrax 3/400 @ 110 mm 5/8" 490,00
32 M for marble and limestone [ for granite and sandstone



TANGA 3 SPARE PARTS

C

Crepuis

1980

COMARTEX

LUPATO

meccanica

=l

19 bits planet wheel

2W10 planet wheel

030kg 030 kg
cop. € cop. €
M SAT19 10200 M sAT2wio 114,00
Abrax planet wheel Dia-Abrax planet wheel
020 kg 020 kg
cop. GRAIN €
M SATA1400 1400 - Coarse 96,00 cop. GRAIN €
M SATA800 800 - Medium 96,00 [d SATDA800 800 - Medium 145,00
M SATA400 400 - Fine 9,00 [ SATDA400 400 - Fine 145,00
19 bits roller @ 33 mm 2W10 roller @ 33 mm
0,10 kg 0,10 kg )
r
cop. € cop. €
M RTB 4400 Mm@ RrTW20 52,00
Abrax roller @ 35 m Dia-Abrax roller @ 35 mm
0,10 kg > 0,10 kg 3
cop. GRAIN €
M RTA1400 1400 - Coarse 39,00 cop. GRAIN €
M RTA800 800 - Medium 3900 @ RTDAS00 800 - Medium 86,00
M RTA400 400 - Fine 3900 @ RTDA400 400 - Fine 86,00
Guide for protection of tool @ 110 mm BOSCH GPO 14 CE 220V
0,30 kg 4,00 kg
-4
~
]
cop. NET PRICE €
cop. € M14: BGPO14CE 280,00
GUP110 50,00 5/8:JBGPO14CE5/8 280,00
BOSCH GWS 17-125 S INOX M14 220V
3,50 kg
-
E=r)
cop. NET PRICE €
JBGWS171255I 260,00
33 M for marble and limestone

1W20 planet wheel
030kg

cop. €
G| SAT1W20 120,00
Bearings 608 RS with cap
0,05 kg P
cop. €
SPIT 19,00
1W20 roller @ 33 mm
0,10kg

cop. €
M [ RrT20sW 54,00
Tanga 3 glide @ 110 mm
020kg
cop. €
PATAN3 55,00
BOSCH GPO 14 CE 110V
4,00 kg

-4
,,

cop. NET PRICE €
M14: JBGPO14CE110V 320,00
5/8: JBGPO14CE110V5/8 320,00

A for granite and sandstone



TANGA 4 rooss e
Protection for tool @ 150 mm with guide
3,00 kg
cop. DESC. €
M E PR150G Protection for tool @ 150 mm with guide M14 184,00
M E PR150G5/8 Protection for tool @ 150 mm with guide 5/8" 184,00
Tanga 4/19 @ 150 mm Tanga 4/2W10 @ 150 mm
2,00 kg 2,30kg
cop. DESC. € cop. DESC. €
M T424 Tanga 4/19 @ 150 mm M14 48400 MM Taw20 Tanga 4/2W10 @ 150 mm M14 530,00
M T4245/8 Tanga 4/19 @ 150 mm 5/8" 48400 M T4w205/8 Tanga 4/2W10 @ 150 mm 5/8" 530,00
Tanga 4/1W20 @ 150 mm Tanga 4 Abrax @ 150 mm M14
2,00 kg 2,00 kg
cop. DESC. €
cop. DESC. € M TA41400 Tanga Abrax 4/1400 @ 150 mm M14 468,00
M Tawzos Tanga 4/1W20 @ 150 mm M14 580,00 (M TA4800 Tanga Abrax 4/800 @ 150 mm M14 468,00
m I Tawzoss/8 Tanga 4/1W20 @ 150 mm 5/8" 580,00 M TA4400 Tanga Abrax 4/400 @ 150 mm M14 468,00

Tanga 4 Abrax @ 150 mm 5/8"

Tanga 4 Dia-Abrax @ 150 mm

2,00 kg 2,00 kg
cop. DESC. €
cop. DESC. 3 G| TDA4800 Tanga Dia-Abrax 4/800 @ 150 mm M14 705,00
M TA414005/8 Tanga Abrax 4/1400 @ 150 mm 5/8" 46800 @ TDA4400 Tanga Dia-Abrax 4/400 @ 150 mm M14 705,00
M TA48005/8 Tanga Abrax 4/800 @ 150 mm 5/8" 46800 @ TDA48005/8 Tanga Dia-Abrax 4/800 @ 150 mm 5/8" 705,00
M TA44005/8 Tanga Abrax 4/400 @ 150 mm 5/8" 46800 HE TDA44005/8 Tanga Dia-Abrax 4/400 @ 150 mm 5/8" 705,00
34 M for marble and limestone [ for granite and sandstone



COMARTEX

Cepuis

1980

C

TANGA 4 SPARE PARTS

LUPATO

meccanica

frall

19 bits planet wheel 2W10 planet wheel

030 kg 0,30 kg
cop. € cop. €
M SAT19 10200 M sAT2wio 114,00
Abrax planet wheel Dia-Abrax planet wheel
0,20 kg 0,20 kg
cop. GRAIN €
M SATA1400 1400 - Coarse 96,00 cop. GRAIN €
M SATA800 800 - Medium 96,00 [d SATDA800 800 - Medium 145,00
M SATA400 400 - Fine 9,00 [ SATDA400 400 - Fine 145,00
19 bits roller @ 33 mm 2W10 roller @ 33 mm
0,10 kg 0,10 kg
cop. € cop. €
M RTB 4400 Mm@ RrTW20 52,00
Abrax roller @ 35 m Dia-Abrax roller @ 35 mm
0,10 kg 3 0,10 kg /A
cop. GRAIN €
M RTA1400 1400 - Coarse 39,00 cob. GRAIN €
M RTA800 800 - Medium 3900 @ RTDA800 800 - Medium 86,00
M RTA400 400 - Fine 3900 @ RTDA400 400 - Fine 86,00
Guide for protection of tool @ 150 mm BOSCH GPO 14 CE 220V
0,50 kg 4,00 kg
o4
~
| |
cop. NET PRICE €
cop. € M14: JBGPO14CE 280,00
GUP150 55,00 5/8:)BGPO14CE5/8 280,00
35 M for marble and limestone

1W20 planet wheel
030kg

cop. €
G| SAT1W20 120,00
Bearings 608 RS with cap
0,05 kg P
cop. €
SPIT 19,00
1W20 roller @ 33 mm
0,10 kg

cop. €
M [ RrT20sW 54,00
Tanga 4 glide @ 150 mm
0,60 kg
cop. €
PATAN 66,00

BOSCH GPO 14 CE 110V

4,00 kg
“
> .
|
CcoD. NET PRICE €
M14: JBGPO14CE110V 320,00
5/8: JBGPO14CE110V5/8 320,00

A for granite and sandstone



MICRA

TOOLS INFO

Micra protection with guide

2,00 kg
cop.
Y G| RAS
'l G| RAS5/8

Micra @ 125 mm

1,50 kg
cop. DESC.

ME rm Micra @ 125 mm M14

Mm@ RrRvss Micra @ 125 mm 5/8"

DESC.
Micra protection with guide M14
Micra protection with guide 5/8"

549,00
549,00

36 M for marble and limestone

A for granite and sandstone

180,00
180,00



MICRA SPARE PARTS

LUPATO

meccanica

Depuis

O COMARTEX
A\ 1980

Micra planet wheel

0,30 kg
b

cop. €
M RrRms 145,00

Micra glide @ 125 mm with attachment
0,50 kg

CoD. €
M14: RMP 95,00
5/8: RMP5/8 95,00

BOSCH GPO 14 CE 220V

4,00 kg
-l W
v
| |
COD. NET PRICE €
M14: JBGPO14CE 280,00
5/8:)BGPO14CE5/8 280,00

37

M for marble and limestone

Roller @ 42 mm Roller Internal parts @ 22 x 13 mm

0,10 kg 0,07 kg
cop. € cop. €
mE rRvr 88,00 RMSPI 19,00
Hexagonal ring Guide for Micra protection
0,05 kg 0,50 kg
cop. € CcoD. €
ANE93 22,00 RGUIM 50,00
BOSCH GPO 14 CE 110V BOSCH GWS 17-125 S INOX M14 220V
4,00 kg 3,50 kg
' qd- .- g
-
o
| ]
cop. NET PRICE €
M14: JBGPO14CE110V 320,00 COD. NET PRICE €
5/8: JBGPO14CE110V5/8 320,00 JBGWS17125S! 260,00

B for granite and sandstone



TOOLS INFO

PIKO

Protection for rollers @ 115 mm

1,70 kg
coD. DESC. €

M E PR115 Protection for rollers @ 115 mm M14 145,00

M E PR1155/8 Protection for rollers @ 115 mm 5/8" 145,00

Piko @ 105 mm

7,00 kg
cop. DESC. €

M PIKO Piko @ 105 mm M14 278,00

M PIKO5/8 Piko @ 105 mm 5/8" 278,00

for granite and sandstone

38 M for marble and limestone



O COMARTEX

24 LUPATO

PIKO SPARE PARTS Depuis .
1980 ) meccanica
6 bits tip BOSCH GPO 14 CE 220V BOSCH GPO 14 CE 110V
0,01 kg 4,00 kg 4,00 kg
.
_a -
CcobD. NET PRICE€ COD. NET PRICE €
CoD. € M14:|BGPO14CE 280,00 M14:)BGPO14CE110V 320,00
M GINS 5,50 5/8:)BGPO14CE5/8 280,00 5/8:)BGPO14CE110V5/8 320,00

39 M for marble and limestone [ for granite and sandstone



ROLLEX

TOOLS INFO

Protection for rollers @ 115 mm

Rollex 2000 @ 115 x 140 mm M14
Rollex 1400 @ 115 x 140 mm M14
Rollex 800 @ 115 x 140 mm M14
Rollex 400 @ 115 x 140 mm M14

€
145,00
145,00

€
382,00
382,00
382,00
382,00

Rollex 2000 @ 80 x 50 mm M14
Rollex 1400 @ 80 x 50 mm M14
Rollex 800 @ 80 x 50 mm M14
Rollex 400 @ 80 x 50 mm M14

1,70 kg
cop. DESC.
M E PR115 Protection for rollers @ 115 mm M14
M E PR1155/8 Protection for rollers @ 115 mm 5/8"
Roker @ 115 x 105 mm Rollex @ 115 x 140 mm M14
3,00 kg 3,30 kg
cop. DESC.
M PRULLGB
cop. DESC. €M PRULLMGB
M GLB Roker @ 115 x 105 mm M14 684,00 M PRULLMB
M GLB5/8 Roker @ 115 x 105 mm 5/8" 684,00 M PRULLFB
Rollex @ 115 x 140 mm 5/8" Rollex @ 80 x 50 mm M14
3,30 kg 0,50 kg
cop. DESC. € cop. DESC.
M PRULLGB5/8 Rollex 2000 @ 115 x 140 mm 5/8" 382,00 M PRUL8050G
M PRULLMGBS/8 Rollex 1400 @ 115 x 140 mm 5/8" 382,00 M PRUL8050MG
M PRULLMB5/8 Rollex 800 @ 115 x 140 mm 5/8" 382,00 M PRUL8050M
M PRULLFB5/8 Rollex 400 @ 115 x 140 mm 5/8" 382,00 M PRUL8050F
Rollex @ 80 x 50 mm 5/8"
0,50 kg
cop. DESC. €
M PRUL8050G5/8 Rollex 2000 @ 80 x 50 mm 5/8" 212,00
M PRUL8050MG5/8 Rollex 1400 @ 80 x 50 mm 5/8" 212,00
M PRUL8050M5/8 Rollex 800 @ 80 x 50 mm 5/8" 212,00
M PRUL8050F5/8 Rollex 400 @ 80 x 50 mm 5/8" 212,00
40 M for marble and limestone

for granite and sandstone

€
212,00
212,00
212,00
212,00



§) COMARTEX mpm) UPATO

ROLLEX SPARE PARTS . .
1980 o | meccanica

8 bits tip 4 and 8 bits tip holder BOSCH GPO 14 CE 220V
0,01 kg . 002 kg 4,00 kg
4
cop. NET PRICE €
cop. € cop. € M14:)BGPO14CE 280,00
M INSMR 500 SUP4/8 9,00 5/8:)BGPO14CES/8 280,00
BOSCH GPO 14 CE 110V BOSCH GWS 17-125 S INOX M14 220V
4,00 kg 3,50 kg
" -
v -
cop. NET PRICE €
M14: JBGPO14CE110V 320,00 COD. NET PRICE €
5/8: JBGPO14CE110V5/8 320,00 JBGWS17125SI 260,00

41 M for marble and limestone [ for granite and sandstone



DIA-ROLLEX

Protection for rollers @ 115 mm

1,70 kg
coD. DESC. €
M E PR115 Protection for rollers @ 115 mm M14 145,00
M E PR1155/8 Protection for rollers @ 115 mm 5/8" 145,00

Dia-Roker @ 115 x 105 mm Dia-Rollex @ 115 x 140 mm M14

3,00 kg 330kg

cop. DESC. € cop. DESC. €
G| GLBG Dia-Roker @ 115 x 105 mm M14 113400 @ PRULLDG Dia-Rollex 800 @ 115 x 140 mm M14 860,00
G| GLBGS5/8 Dia-Roker @ 115 x 105 mm 5/8" 113400 @ PRULLDF Dia-Rollex 400 @ 115 x 140 mm M14 639,00

Dia-Rollex @ 115 x 140 mm 5/8" Dia-Rollex @ 80 x 50 mm M14

330kg 0,50 kg

cop. DESC. € cop. DESC. €
G| PRULLDG5/8 Dia-Rollex 800 @ 115 x 140 mm 5/8" 860,00 4 PRUL8050DG Dia-Rollex 800 @ 80 x 50 mm M14 290,00
G| PRULLDF5/8 Dia-Rollex 400 @ 115 x 140 mm 5/8" 639,00 PRUL8050DF Dia-Rollex 400 @ 80 x 50 mm M14 240,00

Dia-Rollex @ 80 x 50 mm 5/8"

0,50 kg

cop. DESC. €
G| PRUL8050DG5/8 Dia-Rollex 800 @ 80 x 50 mm 5/8" 290,00
G| PRUL8050DF5/8 Dia-Rollex 400 @ 80 x 50 mm 5/8" 240,00

42 M for marble and limestone for granite and sandstone



0 COMARTEX

Depuis

AL UPATO

DIA-ROLLEX SPARE PARTS

' -
1980 Ml meccanica
4 bits tip 4 and 8 bits tip holder BOSCH GPO 14 CE 220V
0,01 kg 0,02 kg 4,00 kg
&
CcobD. NET PRICE €
CoD. € COD. € M14:|BGPO14CE 280,00
E INSGR 15,00 SUP4/8 9,00 5/8:)BGPO14CE5/8 280,00
BOSCH GPO 14 CE 110V BOSCH GWS 17-125 S INOX M14 220V
4,00 kg 3,50 kg
- )
v -
CcoD. NET PRICE €
M14: JBGPO14CE110V 320,00 COD. NET PRICE €
5/8:)BGPO14CE110V5/8 320,00 JBGWS17125SI 260,00

43 M for marble and limestone [ for granite and sandstone



VOR

TOOLS INFO

Vor
44,00 kg
cop. DESC.

Y G| VORL Vor 220V

'l G| VORL110V Vor 110V

Tool Vor 3 @ 260 mm Tool Vor 4 @ 260 mm
17,00 kg 7,00 kg

cop. DESC. € cop.
M VP3/9 Tool Vor 3/9 @ 260 mm 672,00 M VOR4/18

Tool Vor 4 Abrax @ 260 mm

700 kg © 260 mm
17,50 kg
CcoD. DESC. €
M VORA1400 Tool Vor Abrax 4/1400 @ 260 mm 525,00
M VORAS800 Tool Vor Abrax 4/800 @ 260 mm 525,00 CcobD.
M VORA400 Tool Vor Abrax 4/400 @ 260mm 525,00 E VPC3

Tool Vor 4 Dia-Abrax @ 260 mm

7,00 kg

cop. DESC. €
E VORDA800 Tool Vor Dia-Abrax 4/800 @ 260 mm 680,00
G| VORDA400 Tool Vor Dia-Abrax 4/400 @ 260 mm 680,00
44 M for marble and limestone

€
1.360,00
1.460,00

DESC. €
Tool Vor 4/18 @ 260 mm 535,00

Tool Vor 3 Compensation

DESC. €

Tool Vor Compensation 3/20 @ 260 mm 694,00

B for granite and sandstone



COMARTEX “3u8 LUPATO

VOR SPARE PARTS Depuis T .
1980 meccanica
9 bits roller @ 48 mm 18 bits roller @ 45 mm Abrax roller @ 45 mm
0,20 kg 0,20 kg 0,26 kg
ii ‘ - P S
: (4
L :
cob. GRAIN €
M RSTAMG 1400 - Coarse 58,00
cop. € cob. € M RSTAM 800 - Medium 58,00
M RSTP3 87,00 M RST4 64,00 M RSTA 400 - Fine 58,00
20 bits Compensation roller @ 50 mm Dia-Abrax roller @ 45 mm Bearings 16100 2Z
030 kg 0,26 kg ) 0,07 kg
cop. GRAIN €
cop. S G | DRSTAM 800 - Medium 86,00 COD. €
G| RSTC 99,00 [ DRSTA 400 - Fine 86,00 C16100 12,00
Grease crew TCEI 10 x 40 mm Grease screw TE 10 x 40 mm Vor 4 glide @ 260 mm
0,06 kg 0,06 kg 3,00 kg
cop. € cop. € cop. €
TCEI1040.1 9,00 TE1040.1 9,00 PAT260VOR 102,00
Vor handle extension Vor single-phase motor
3,50 kg 16,50 kg
cob. VOLT €
cop. € M09002050105 220V 690,00
PRLVOR 187,00 M09002050105110V 110V 790,00

45 M for marble and limestone B for granite and sandstone



RULLATRICE

Rolling machine L200

37,00 kg
cop. DESC. €
M E JMGA200 Rolling machine L200 2.189,00
Roker @ 115 x 180 mm Rollex @ 115 x 180 mm
5,00 kg 5,00 kg
cop. DESC. €
M RR1802000 Rollex 2000 @ 115 x 180 mm 910,00
M RR1801400 Rollex 1400 @ 115 x 180 mm 910,00
cop. DESC. € M RR180800 Rollex 800 @ 115 x 180 mm 910,00
M RG180 Roker @ 115 x 180 mm 1.20500 M RR180400 Rollex 400 @ 115 x 180 mm 910,00

Dia-Roker @ 115 x 180 mm Dia-Rollex @ 115 x 180 mm

5,00 kg 5,00 kg
cop. DESC. €
cop. DESC. «c d DRR180800 Dia-Rollex 800 @ 115 x 180 mm 1.590,00
G| RG180G Dia-Roker @ 115 x 180 mm 2.050,00 [ DRR180400 Dia-Rollex 400 @ 115 x 180 mm 1.110,00

46 M for marble and limestone [ for granite and sandstone



LUPATO

meccanica

RULLATRICE SPARE PARTS

Depuis

COMARTEX e |
C 1980 H.

8 bits tip 4 bits tip 4 and 8 bits tip holder
0,01 kg . 001 kg 0,02 kg

cop. € cop. € cop. €
M INSMR 500 @ INSGR 1500 SUP4/8 9,00

47 M for marble and limestone [ for granite and sandstone



BIRBA

TOOLS INFO

Birba
8,00 kg
cop.
Y G| BRBG
Y G| BRBG5/8
Y G| BRBG110V
Y G| BRBG110V5/8
Roker @ 115 x 50 mm
1,80 kg
cop.
M GCB
M GCB5/8

Rollex @ 115 x 50 mm M14

1,00 kg
cop.
M PRULCGB
M PRULCMGB
M PRULCMB
M PRULCFB

Dia-Rollex @ 115 x 50 mm

1,00 kg
cop.

G| PRULCDG

G| PRULCDF

G| PRULCDG5/8

G| PRULCDF5/8

DESC.

Birba 220V M14
Birba 220V 5/8"
Birba 110V M14
Birba 110V 5/8"

DESC.
Roker @ 115 x 50 mm M14
Roker @ 115 x 50 mm 5/8"

DESC.

Rollex 2000 @115 x 50 mm M14
Rollex 1400 @ 115 x 50 mm M14
Rollex 800 @ 115 x 50 mm M14

Rollex 400 @ 115 x 50 mm M14

DESC.

Dia-Rollex 800 @ 115 x 50 mm M14
Dia-Rollex 400 @ 115 x 50 mm M14
Dia-Rollex 800 @ 115 x 50 mm 5/8"
Dia-Rollex 400 @ 115 x 50 mm 5/8"

M for marble and limestone

€
980,00
980,00
1.080,00
1.080,00
Dia-Roker @ 115 x 50 mm
1,80 kg
€ CcobD. DESC. €
39000 [ GCBG Dia-Roker @ 115 x 50 mm M14 725,00
390,00 E GCBG5/8 Dia-Roker @ 115 x 50 mm 5/8" 725,00
Rollex @ 115 x 50 mm 5/8"
1,00 kg
€ CcobD. DESC. €
30500 ‘M PRULCGBS/8 Rollex 2000 @115 x 50 mm 5/8" 305,00
30500 M PRULCMGB5/8 Rollex 1400 @ 115 x 50 mm 5/8" 305,00
30500 ‘M PRULCMB5/8 Rollex 800 @ 115 x 50 mm 5/8" 305,00
30500 M PRULCFB5/8 Rollex 400 @ 115 x 50 mm 5/8" 305,00
Free tools drum
2 115x50 mm
1,60 kg
€
470,00
320,00 CcoD. DESC. €
470,00 E PTAMCB Free tools drum @ 115 x 50 mm M14 495,00
320,00 E PTAMCB5/8 Free tools drum @ 115 x 50 mm 5/8" 495,00

for granite and sandstone



COMARTEX

Depuis

1980

C

BIRBA SPARE PARTS

=4 LUPATO

5:3 meccanica

8 bits tip 4 bits tip 4 and 8 bits tip holder
0,01 kg 001kg 0,02 kg

cop. € cop. € cop. €

M INSMR s00 @ INSGR 15,00 SUP4/8 9,00
8 bits ring Shaft with disks spacers Set of 10 disks
030 kg 1,50 kg 1,50 kg
|-y
cop. €

cop. € M14: ALDISB 140,00 C€OD. €

G| RUSP 15,00 5/8: ALDISBS8 140,00 SET10D 220,00
Cepuis

49 M for marble and limestone [ for granite and sandstone





